o
[N

< o cot(y) >

.............

<0 > (rad)
o
o [
[ [¢)]

........................

'

o

4]
TTTT T

-

T

B

L : : 1 L i :
12 3 93 = 10 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—— DQM_V0001_R000000001__Global_cmsswQCD__RECO
—— DQM_V0001_R000000001__Global__mkFitOriginalQCD__RECO
—— DQM_V0001_R000000001__Global__mkFitNewQCD__RECO

100r T N T N T = 100

=3 -2 -1

< 00, > (M)
<od,>(um

b X e L 1 HH bk e
i : : (1114341 :
b g e ML e
b 4 e {4 X e
K £ : I A :
: : . i : .
: : : : : :
coibeeeeed Ze0F e R R FHEHA RERHAE - - - beeeans
L f . f 4 .
11 B | PR PR P 21| EEE PR
i LELEL L)) ARRAN 1P A AT A
=&d

i

1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

o[
If...
N
|
LN
o

<0 / > (Y
PP, > (Y0)
O = N W N O

Ratio

............

-1 0 1 2 73
TP n (PCA to beamline)

JI-I
|
N



	Contents
	Page 1


